= -1 2 +1-2 1

5 dx = = dr = |dx - 2| — dx =x - 2arctgx +
\Ix +1] \I ¥ +1 \I Jx +1

L - L 1 - £ 1
J ::;x . :x"’JF - :x_; c

= Llnr=duy= 1x.:1’x

=1 = _1
ey xga"x:‘>v A

2 2
x 1
dr=Zarctgx +

X
.|1+xﬁdx=.I1+(x3)2 3

J dx = LulZLux)
xinx

L?zx=r.=>%:cix=ci.ﬁ

Vi

x
dx = JE.:I’J: =Lul Lux)

f ’
METOR USHR:J? = Lyf reescribisndo J

xlnx

SEN 2 X COSAX
+ +

2 3

J[cos 2x—sen3xkdx =

l+1
I.‘-’fi.l'l‘?fg dx=Ix(1—x2)%dx=—%ﬂ=—§@—xg 1-x%)+

j-:u+1

a+1

USAR: ("' =




SEDL X

J‘m dx = —arctgcosx) +

TISAR ‘I‘lj? = arctg f

3

2 f
x+1 hd +2kdﬁ=2[%+2f’]=§|[x—1:|m'x_1+4’\x_l+c

Ir .[f,

ridz—zr

x-1=:2= x = + 1= dx = 2t

7 1 7
I=Isen x dx=—senxcosx+fcos x dx=—senxcosx+j(]—sen x) dx=—senxcosx+fdx =

1
=>2I=—senxcosx+xfx~jsenjx dx=§[x—senxcosx)+6'

i =gen X = du =cos xdx

dv=zsen rdr=>v=-cosx

cosnf—
=

.:I'x—Esenm'{;+C

UMR:Icosf.f’=senf

2
COSX -cosx l-cosx 1-Z2cosx+coos®x
X = dx=-cotgx+ —cotgr—x+C

drx = d
Il+cosx I 1+cosx 1-cosx I sen” x SEf X

I —dx=-cotgx
sen x
N
Cos X 2 sen T x
J‘ dr = Icos xsen ™t xdr=
sen” X -2+1

Icotgjxdx= I(cotg2x+l—1 x=-cotgx—x



+C

3 3

1, t,

J,arc;g xdx=arcg x
0+ 3

f:u+1
UMR:Iff e
dx 1
J.1+9x2 —garctg[Bx:HC

!

TISAR: J‘I:f? = arctg f

" + 3 2
J‘ il cfx=f-( 3+xg+x+1)dx— ﬁdx=—[%+%+%+x]+£m|l—x|+if

1-x

3 ( a ) a
sen” x sent xll —cos” x Sefl X sen” x
I ci’x=I a!’x=_[ cfx—Isen XCosxdx = —L?z||:os x|— + 7
COsX Cos X Cos X 2

o

I

dx =2e¥ +C

TISAR: Ieff* =g’

I—L”'[L”xj dx = [Lntdt = tlnt - [dt = tLnt =t = Lx{Ln(Lnx)) = Lnx+ C
X

L?zx=.ﬁ:>%dx=dz u=£n£=}.:£u=1ﬁ.:£ﬁ

dv =i = v ={f



IEOS (£nz) dx = sen(Lux)+
x

UMR:Icasf.f’=senf

1 2 1 3
Isene ety = —Et:c::se N

TISAR J‘senf.j”= —cosf

R
[ A O XTI - Lot —dx e x? —6a-1+C
2x —dx +x —6x-1 2

USAR: I% = Ll f|



